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本周直播要点：

1、数字9,5,3；

2、英语逻辑首体验。
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9个句子成分

       主                                      谓                                             宾
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5种句子结构：

主谓（宾）(宾补）(宾宾）

主系表
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3种句子类型
简单句

并列句

复合句
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1、He acknowledges it.

2、Human language can be expressive.

3、No language or dialect cannot convey ideas.

 

英语逻辑首体验
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As a linguist, he acknowledges that all varieties of human language, 

including non-standard ones like Black English, can be powerfully 

expressive – there exists no language or dialect in the world that cannot 

convey complex ideas.

参考翻译：作为语言学家，他承认所有种类的人类语言，包括像黑人英语这样的非标

准语言，都具有强大的表现力——世界上任何语言或方言都能______复杂思想。
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1. The fact answered the question.

2. The apple fell down and not up .

3. He had been asking himself about those larger fruits.
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The fact that the apple fell down toward the earth and not up into the 

tree answered the question that he had been asking himself about those 

larger fruits of the heavens, the moon and the planets.

参考翻译：苹果向下落到地面不是向上飞到树上，这一事实回答了（他长期以来一直

对天空中更庞大的“水果”——月球和行星）的疑问。
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1. Ericsson grew up , and studied nuclear engineering.

2. He realize it.

3. He would have more opportunity.

4. He switch to psychology.



温故知新，举一反三      学  习  例  会  直  播

Ericsson grew up in Sweden, and studied nuclear engineering until he 

realized he would have more opportunity to conduct his own research if 

he switched to psychology.

参考翻译：艾瑞克森在瑞典长大并一直研究核工程，直到后来他意识到

如果转修心理学，他会有更多机会来_____自己的研究。
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They（researchers) found that after an outside director's surprise 

departure, the probability that the company will subsequently have to 

restate earnings increased by nearly 20%. The likelihood of being named 

in a federal class-action lawsuit also increases, and the stock is likely to 

perform worse.

  根据以上内容判断下面哪句话为真：

  A、The firm is likely to become more stable.

  B、The firm is likely to report increased earnings.

  C、 The firm is likely to do less well in the stock market.

  D、The firm is likely to perform worse in lawsuits.
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They（researchers) found that after a surprise departure, the probability 

that the company will subsequently have to restate earnings increased by 

nearly 20%.

1.  They（researchers) found it

2.  The probability increased

3.  The company will have to restate earnings



温故知新，举一反三      学  习  例  会  直  播

The likelihood of being named in a federal class-action lawsuit also 

increases, and the stock is likely to perform worse.

1.The likelihood of...  increases.

2.The stock is likely to perform worse.
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